X DI Y EE
Z2E8@) R @-
BHIID SRBRF 97T 9758
| 2 ( )
[#84]

:&\\{/070'7 e o Tial)

[(#Bow b ) /////
%\\bﬂ@ o Tod it Tr2emN Tk, 100

3022 0] QLibhs Obhs = Abbbhkl TR
ke soducht LELed,

® Ypem + /0em = cm

@ 90cm + 60em = m cm
@ focem + 40cem = m cm
C>/n1/05ﬁq-f 50 em = m C
® /m boem + 20 cm = m cm
Cﬁ?Ocm. — 20cm = cm

@D 50 cm — %0 cm= cm

®/m & em — 20Lm = m Cm
@D/ m 40cm - ?Ocm: cm

GD/ m [0 cm — 20 Cm= Cm 2%%025\




2 (0

BHIIDN SRMRAF9IT 9 THE

XHDIF b EE

£ (9 ~

e

2

28 ( )
(#54)
Evton Ekcolal
(oD HT) /////
%\‘5@"7 ,&Q‘@(T\\(f;\,’ﬁf%:bﬂ\“(“\*}?o 100
(5024 b) Qkibh3d Obhd -~ Abbbikl %Eﬁ”@%ﬁ
ko dudat LELsT
0) QOLW1+‘/OCM = 4 5P cm
@ 90cm + 60em = | / m |50 | cm
® foem t40em =| / | m | 20| W
@ /m /0w + 50em =| / Im | 60| cm
® /mboem + 20em=|/ | M| &0 (m
@ Focem — 20cm =| 40| cm
Ds50ocm — 40cm=|/0| m
®/m &oem — 20em=| / | m|&0] cm
@D/ m 40 cm - 70em=| 79 | cm
@/ m/0cm — 20cm= 72| cm 2 o




